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General  Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) or (D) and indicate your
correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

5. Answers for all questions, including Matching, True or False, Fill in the blanks,
etc., are to be given in the Answer-Book only.

6. Write your Question Paper Code No. 67/ACV/A, Set u on the Answer-Book.
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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. dñVw{Zð> àíZm| Ho$ {bE AmnH$mo àíZ Ho$ (A), (B), (C) AWdm (D) Mmam| {dH$ënm| ‘| go H$moB© EH$ ghr CÎma MwZZm
h¡ VWm AnZo ghr CÎma H$mo AmnH$mo CÎma-nwpñVH$m ‘| {bIZm h¡&

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

5. {‘bmZ H$aZm, ghr AWdm µJbV, [aº$ ñWmZ ^aZm, Am{X g{hV g^r àíZm| Ho$ CÎma, CÎma-nwpñVH$m ‘| hr {bI|&

6. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 67/ACV/A, goQ u {bI|&
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COMPUTER HARDWARE ASSEMBLY AND MAINTENANCE

H$åß¶yQ>a hmS>©do¶a Ag|~br Am¡a aIaImd
(663)

Time : 1½ Hours ] [ Maximum Marks : 30

g‘¶ … 1½ KÊQ>o ] [ nyUmªH$ … 30

Note  : 1. All questions are compulsory and carry marks as indicated against
each question.

2. Questions 1-8 are of ½ mark each.

3. Questions 9-18 are of 1 mark each.

4. Questions 19-22 are of 2 marks each.

5. Questions 23 and 24 are of 4 marks each.

gyMZm … 1. g^r àíZ A{Zdm¶© h¢ Am¡a àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h¢&

2. àíZ g§»¶m 1-8, àË¶oH$ ½ A§H$ H$m h¡&

3. àíZ g§»¶m 9-18, àË¶oH$ 1 A§H$ H$m h¡&

4. àíZ g§»¶m 19-22, àË¶oH$ 2 A§H$m| H$m h¡&

5. àíZ g§»¶m 23 Ed§ 24 àË¶oH$ 4 A§H$m| H$m h¡&

1. The third generation of computers used _____ instead of transistors. ½

(A) integrated circuits (B) vacuum tubes

(C) ULSI (D) VLSI

H§$ß¶yQ>a H$s Vrgar nr‹T>r Zo Q´>m§{OñQ>a Ho$ ~Om¶ _____ H$m à¶moJ {H$¶m&

(A) EH$sH¥$V g{H©$Q> (B) d¡³¶y‘ Q²>¶y~

(C) ULSI (D) VLSI

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. _____ is a character encoding set used by IBM mainframes. ½

(A) ASCII (B) BCD

(C) EBCDIC (D) EDBIC

_____ AmB0~r0E‘0 ‘oZ’«o$‘ Ûmam Cn¶moJ {H$¶m OmZo dmbm EH$ H¡$aoo³Q>a EÝH$moqS>J goQ> h¡&
(A) ASCII (B) BCD

(C) EBCDIC (D) EDBIC

3. LED torch is preferred to use than the conventional torch, because

(A) it is easy to use (B) it is less expensive

(C) it consumes less energy (D) it looks better ½

nma§n[aH$ Q>m°M© H$s VwbZm ‘| Eb0B©0S>r0 Q>m°M© H$m Cn¶moJ H$aZm ng§X {H$¶m OmVm h¡ ³¶m|{H$
(A) ¶h à¶moJ H$aZo ‘| AmgmZ h¡ (B) ¶h H$‘ IMubm h¡

(C) ¶h H$‘ D$Om© H$s InV H$aVm h¡ (D) ¶h ~ohVa {XIVm h¡

4. The _____ folder in Windows contains erased files. ½

(A) boot (B) program data

(C) recuperation (D) recycle bin

{d§S>moO Ho$ _____ ’$moëS>a ‘| {‘Q>mB© JB© ’$mBb| hmoVr h¢&

(A) boot (B) program data

(C) recuperation (D) recycle bin

5. Which of the following options of the control panel is used to change the

screen saver? ½

(A) Hardware and Sound

(B) User Accounts

(C) Programs

(D) Appearance and Personalization

ñH«$sZ goda H$mo ~XbZo Ho$ {bE H§$Q´>mob n¡Zb Ho$ {ZåZ{b{IV ‘| go {H$g {dH$ën H$m Cn¶moJ {H$¶m
OmVm h¡?

(A) Hardware and Sound

(B) User Accounts

(C) Programs

(D) Appearance and Personalization
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6. Which of the following allows the pooling and sharing of the computation

power (processor and server) and storage of multiple computers, network

and other resource among multiple user? ½

(A) Visualization (B) Viralization

(C) Virtualization (D) Vibrationalization

BZ‘o§ go ³¶m AZoH$m| H$ånyQ>am|, ZoQ>dH©$ Am¡a AÝ¶ g§gmYZm| Ho$ H$ånyQ>oeZ nm°da (àmogoga Ed§ gd©a) Ed§
ñQ>moaoµO H$mo AZH$m| ¶yOg© Ho$ gmW nyqbJ Am¡a eo¶[a¨J H$aZo H$s AZw‘{V XoVm h¡?

(A) Visualization (B) Viralization

(C) Virtualization (D) Vibrationalization

7. Which of the following is not an aspect for effective engagement and

interaction with customers? ½

(A) Understand the customer profile

(B) Ignore the problems customer is facing

(C) Plan the customer visit

(D) Seek feedback from customers

{ZåZ{b{IV ‘| go H$m¡Z-gm nhby J«mhH$m| Ho$ gmW à^mdr Ow‹S>md Am¡a ~mVMrV H$mo Zht Xem©Vm h¡?

(A) J«mhH$ àmoµ’$mBb H$mo g‘PZm

(B) J«mhH$ H$mo hmo ahr naoemZr H$mo ZOaA§XmO H$aZm

(C) J«mhH$ Ho$ AmZo H$s ¶moOZm ~ZmZm

(D) J«mhH$m| go ’$sS>~¡H$ boZm

8. Choose the step to take in case the feedback received is not on expected

lines. ½

(A) Start blame game

(B) Argue over the negative feedback received

(C) Focus on the scope of improvement

(D) Ignore the negative feedback
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àmá à{V{H«$¶m Ano{jV VO© na Zht hmoZo H$s [ñW{V ‘| CR>m¶m OmZo dmbm H$X‘ Mw{ZE&

(A) ãbo‘ Jo‘ ewê$ H$a|

(B) àmá ZH$mamË‘H$ à{V{H«$¶m na ~hg H$ao§

(C) gwYma H$s Jw§OmBe na Ü¶mZ X|

(D) ZH$mamË‘H$ à{V{H«$¶m na Ü¶mZ Z X|

9. Give the full forms of the following : 1

(a) SMPS

(b) HDD

[ZåZ{b{IV Ho$ nyU© ê$n {b{IE :

(H$) SMPS

(I$) HDD

10. Why are the needle nose pliers useful at the time of assembling the
computer? 1

ZrS>b ZmoO ßbm¶g© H$åß¶yQ>a H$s Ag|~br Ho$ g‘¶ ³¶mo§ Cn¶moJr hmoVo h¢?

11. Following are the steps to dismantle a desktop computer but they are not
in proper order. Arrange them in proper order. 1

(a) Disconnect the HDD from the motherboard

(b) Remove power supply, unscrew the optical drive

(c) Remove the case fan and processor fan

(d) Unplug USB, power cables, keyboard, mouse, etc.

S>oñH$Q>m°n H$åß¶yQ>a H$mo {dI§{S>V H$aZo Ho$ MaU ZrMo {XE h¢, na§Vw do ghr H«$‘ ‘| Zht h¢& CZH$mo ghr H«$‘
‘| ì¶dpñWV H$s{OE&

(H$) ‘Xa~moS>© go EM0S>r0S>r0 H$mo AbJ H$aZm

(I$) nmda gßbmB© H$mo ~§X H$aZm, Am°n²{Q>H$b S´>mBd H$mo AZ²ñH«y$ H$aZm

(J) Ho$g ’¡$Z Am¡a àmogoga ’¡$Z H$mo AbJ H$aZm

(K) ¶y0Eg0~r0, nmda Ho$~ëg, H$s~moS>©, ‘mCg Am{X H$mo AZ²ßbJ H$aZm

12. What is the disadvantage of upgrading BIOS with flash process? 1

BIOS H$mo µâb¡e à{H«$¶m go AnJ«oS> H$aZo ‘| ³¶m ZwH$gmZ h¡?
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13. What is the purpose of partitioning a hard disk? 1

hmS>© {S>ñH$ Ho$ {d^mOZ H$m CÔoí¶ ³¶m h¡?

14. What is the difference between repeater and bridge? 1

[anrQ>a Am¡a {~«O ‘| ³¶m A§Va h¡?

15. What will you do if your keyboard is not responding? 1

¶{X AmnH$m H$s~moS>© H$m‘ Zht H$a ahm h¡, Vmo Amn ³¶m H$a|Jo?

16. Write the steps to be followed when you are unable to access network files

or unable to connect to the network. 1

O~ Amn ZoQ>dH©$ ’$mBbm| VH$ nhþ±MZo ‘| Ag‘W© hm| AWdm Amn ZoQ>dH©$ go H$Zo³Q> hmoZo ‘| Ag‘W© hm|,
V~ Amn {H$Z ñQ>oßg Ho$ gmW AmJo ~‹T>|Jo?

17. What is SaaS (Cloud Software-as-a-Service)? 1

(SaaS) "godm Ho$ ê$n ‘| ³bmCS> gm°âQ>do¶a' ³¶m h¡?

18. State the need of defragmenting of the hard drive. 1

hmS>© S´>mBd Ho$ defragmenting H$s Amdí¶H$Vm ~VmB¶o&

19. Convert (AOD)16 to its decimal equivalent. 2

(AOD)16 H$mo BgHo$ Xe‘bd g‘H$j ‘| ~X{bE&

20. Rajat has purchased a new optical drive which he wants to connect to his

computer’s motherboard. What type of cables shall Rajat use and why?

1+1=2

aOV Zo EH$ Z¶m Am°pßQ>H$b S´>mBd IarXm h¡ {Ogo dh AnZo H§$ß¶yQ>a Ho$ ‘Xa~moS>© go Omo‹S>Zm MmhVm h¡&
aOV H$mo {H$g Vah Ho$ Ho$~b H$m BñVo‘mb H$aZm Mm{hE Am¡a ³¶m|?

21. Expand the term CMOS. What is the benefit of this technology? 1+1=2

CMOS eãX H$m {dñVma H$s{OE& Cg VH$ZrH$ H$m ³¶m ’$m¶Xm h¡?

22. What is wireless topology? Give one advantage and one disadvantage. 2

dm¶abog Q>monmobm°Or ³¶m h¡? BgHo$ EH$ bm^ Am¡a EH$ hm{Z H$mo ~VmBE&



23. Write down the names of parts and tools required for assembling a
computer. 4

EH$ H$åß¶yQ>a H$mo Ag|~b H$aZo Ho$ {bE Amdí¶H$ nmQ²>g© Am¡a Qy>ëg Ho$ Zm‘ {b{IE&

24. Nikita has purchased a new computer system and she wants to connect
her computer with wireless internet connection. Write down the steps for
the same. 4

{Z{H$Vm Zo EH$ Z¶m H$åß¶yQ>a {gñQ>‘ IarXm h¡ Am¡a dh AnZo H$åß¶yQ>a H$mo dm¶abog B§Q>aZoQ> H$Zo³eZ
go Omo‹S>Zm MmhVr h¡& BgH$mo H$aZo Ho$ ñQ>oßg {b{IE&


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